Adda

e

CSIR CLRI

Previous Year Paper

Junior Secretariat Assistant
Paper | 2018

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Addai2y7 Eooale Play

JSA-I Admit

Booklet No.: 1146

Card No.
CENTRAL LEATHER RESEARCH INSTITUTE, ADYAR, CHENNALI.

Recruitment for the Post of Junior Secretariat Assistant (G/S&P), Adut. No. 212018

Total Time Allowed : 2 hours 30 minutes Total Maximum Marks : 500

Read the following instructions carefully before you begin to answer the questions.

V5.

10.
11.

12.

' IMPORTANT INSTRUCTIONS

Candidate will be supplied with Paper I Question Booklet 10 minutes before commencement of the Competitive Written Examination.

The Competitive Written Examination has the following two papers.
Paper I (Time -Allotted — 90 minutes)

Subject No. of Questions Maximum Marks Negative Marks

Mental Ability Test 100 200 There will be no negative marks in
(two marks for every correct this paper
answer)

Paper II (Time Allotted — 60 minutes)

Subject No. of Questions Maximum Marks Negative Marks
_General Awareness 50 150 One negative mark for every wrong
(three marks for every answer
correct answer)
English Language 50 150 One negative mark for every wrong
(three marks for every answer

correct answer

For Competitive Written Examination Candidates will be provided Question Paper during the following Sessions :
Session I — Paper I — between 09:30 A.M. and 11:00 A.M.
Session II - Paper II — between 11:00 A.M. and 12:00 Noon

After end of each Session, Question Paper will have to be returned to Invigilator.

Prior to attempting to answer, the candidates are requested to check whether all the questions are there in series and ensure there are no
blank pages in the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to the Invigilator
immediately and get it replaced with a complete Question Booklet.

You must write your Admit Card No. in the space provided on the top right side of this page. Do not write anything else on the
Question Booklet. :

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct response and mark in the OMR
Answer Sheet. Your total marks will depend on the number of correct responses marked by you in the Answer Sheet.

In the OMR Answer Sheet there are four circles@, (© and (D against each question. To answer the questions you are to mark
with Blue or Black ink Ball point pen ONLY ONE circle of your choice for each question. Select one response for each question in the
Question Booklet and mark in the Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, is the correct answer, you have to mark as follows :

®0 00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take this Question Booklet and the
Answer Sheet out of the Examination Hall during the time of written examination and After the examination is concluded, you must
hand ov ur Question Booklet and An: h he Invigil "

Do not make any marking in the question booklet exéept in the sheet(s) before the last page of the question booklet,
which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the Competent Authority, CLRI
may decide at his own discretion.

I have read the important instructions given above and agree to the above.

- Invigilator’s Signature Candidate’s Signature with date
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|, fieRea s e 3 5 R (7) % T s AR
17, 19, 23, 29, 37,7 o
(A) 48 (B) 47 . (©) 49 (D) 46

2, frefaiaa dea gaen § 93 fg(?) & TM W F ST =Ry ?
655, 637, 622, 610, 601, ?
4) 593 (B) 598 (C) 595 (D) 597

3. iR 10%—:#@?1 3R 16 ufeal @A 56,000 / - IR IF 20% %wmméw%au@w
I 15 Fagaet 3N 24 ufsat S=rt =nfee @i 3/ @1 F FAE qiqwa qT6 E e
(A) 116176 (B) 100980 (©) 121176 (D) 10080

4. 25% T 960 + 55% of 740 = ?
(A) 650 (B) 647 (C) 689 (D) 699

5. Tk R 50 freiier / Her 1 i @ wordt @ s afdw 78 fi St @ 3 wfde i ww 60 fehetiet
/dzraa?ﬁ_%lH%%W%W,Wﬁé%ﬁ@ﬁﬁiaaaﬁwm%laﬁﬁmﬁmmwﬁ%@aﬁ
e O H I FR N Fre G T , |- A
@) 7.2% (s W | SR 87R D) 65®

6. maﬁﬁ28,500mm~ﬁaﬁmmm23,940@?&@%3&%3@%3{@%?
(A) 10.5 B) 12 (C). 11 (D) 12.5

7. af Y o a5 A % 6,500 F S| 3 20% H 7 gE) fFE himd w @ 20% A IE HA & g
g a7 | '
(8) 8125 (B) 10375 ©(© 9750 D) I H A HE T
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Paper -1
MENTAL ABILITY TEST

What should come in place of the Questlon Mark (‘7) in the following number serles‘?
17, 19, 23, 29, 37,? '

(A) 48‘ - B) 47 ©) 49 (D) 46

What should come in place of the Question Mark in the followmg number series
655, 637, 622, 610, 601, ?
(A) 593 B) 598 (C) 595 ’ D) 597

Raghuvir bought 10 calculafors and 16 watches for Rs.56,000/- and sold them at an overall
profit of 20%. At what price should he sell 15 calculators and 24 watches so that he receives
the same percentage of profit?

(A) 116176 (B) 100980 (C) 121176 - (D) 10080

25% of 960 + 55% of 740 = ?
(A) 650 (B) 647 (C) 689 (D) 699

A car runs at a speed of 50 kms/hour when not serviced and runs at 60 kms/hour when

~ serviced. After servicing, the car covers a certain distance in 6 hours. How much time will

the car takes to cover the same distance when not serviced?

" (A) 7.2 hours (B) 6.8hours © 8hours (D) 6.5 hours

The amount of s1mple interest accrued on an amount of Rs 28, 500 in seven years is 23940.

"~ What is the rate of interest percentage per annum?

A) 105 _ B) 12 © 11 - D) 125

Savita sold an item for Rs.6,500 and incurred a loss of 20%. At what price should she have
sold the item to have gained a profit of 20%? :

(A) 8125 B) 10375 (C) 9750 (D) None of the above

3 | ~ JSAT
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8. 1.5% of 4600 + 2.8% of 2000 — 109 = ?
A) 32 B) 28 €) 12 | (D) . 16

9, Q‘eﬁﬁfﬁamwﬁGIBECHaﬁ974356%@&1%1@1wélwwﬁFHCIAD%%EEQ@
T BT ? e | A
(A) 794125 (B) 572803 (C) 965726 (D) 865732

10. & fompew 93 S sf@er S qU HT
7.5, 4.7, 1.9, -0.9, ... '
A -19 ' : (B) -15
© =37 : : D) -25

11 vu Peed @ w %S AR UE & Hela § 9 R qu 1e et UE | wefid @1
841:29::484:7
(A). 28 B) 24 (C) 32 D) 22

12.  ACCIDENT & @9 TNEDICCA ¥ 2, 38 @& %8 PASSENGER 1 €ei¢1 8-

(A) REGNESSAP ' (B) REGNSESAP
(C) REGMESSAP (D) RGENESSAP

1. P s fe fer 7

i

. A 19 B 21 ©) 23 ») 20
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1.5% of 4600 + 2.8% of 2000 — 109 = ?
A) 32 (B) 28 - (C) 12 D) 16

In a certain code language GIBECH is written as 974356. What will be the code for |
FHCIAD in that code language? \

(A) 794125 (B) 572803 (C) 965726 (D) 865732

Select the correct option that will complete the series
7.5,4.7,1.9, -0.9, ..
A -1.9 ‘ B) -1.5

© -3.7 D) -25

~ Select the option that is related to the thlrd term in the same way as the second term is

related to the first term.
841:29::484: 7?7

A) 28 B) 24 ©) 32 (D) 22

ACCIDENT is related to TNEDICCA in the same way as PASSENGER is related to
(A) REGNESSAP ’ (B) REGNSESAP
(C) REGMESSAP (D) RGENESSAP

How many triangles are there in the following figure?

S

@) 19 ®) 21 © 23 D 20

5 ' JSA-I
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(&) (B) (C) Wy (D) ¥

fraferfaa sram g 3 wAfg (7) % UM W FN W AR T 1 e
SWA, OAW, KES, ?, CMK
(A) GHO (B) FIP (©) - GIO (D) FIO

Frefafe vl R o @il ik wnel ww A safeya
(1) @aH Jars ‘

2) ﬁ-aa:nm

(3) I I Seured

(@) 7 e

(5) &

(6) 3T TAMT

(A) 27 57 37 4; 1, 6 - ’ (B) 4, 5, 2, 6, 1, 3
© 1,5,3,6,4,2 D) 1,5,3,4,6,2

39 foere 1 oo i Sl i Ue & Geiie ¥ 9 o gE ug vee Ug @ wef R
3:30::4:7 _ :
A) 66 (B) 64 | (C) 170 (D) 68

frefifaa s # seafm (?) & SIF T A a1 ST A it
D, J,2, 8,V i |
@ P | ® M © Q @) ©O

Frerferfag dem o3 & @ o w Rt % @ w99 § ok o vre 31 Rrew s s aTe e
(A) 3:27 (B) 4:65 © 2:9 D) 1:2 |

 frme 3t 3% frar Y ada™ o1g A 50 9 ) I @ 5 @I We, frrges R 3w gk far it 3w
1 areran fgwan grft| fommass 6 adam oy | 37

A) 599 (B) 8= (C) 1598 (D) 109

JSA-I £ 6



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 _

14. Three of the following four words are alike in a certain way and one is different. Pick the
odd word out. . _ » '
(A) Frustration (B) Anaemia- (C) Diabetes (D) Hypertension

~15. Which letter cluster will replace the Question Mark (?) in the following series:
SWA, OAW, KES, ?, CMK
(A) GHO (B) FIP (C) GIO V (D) FIO

16.  Arrange the following words in a logical and meaningful order:
(1) Ploughing the field
(2) Bread making
(8) Production of wheat
(4) = Wheat grinding
(5) Sowing the seeds
(6) Dough making

A) 2,534,1,6 | B) 4,5,2,6, 1,3

(C) 1,5,3,6,4,2 D) 1,5,3,4,6,2
17. Select the option that is related to the third member in the safnerway as the second number
: is related to the first number

3:30::4:? .

A) 66 - (B) 64 © 0 D) 68

- 18. Which letter will replace the Question Mark (?) in the following series

D,J,?,8V |
\' @A P B M ‘ G Q ®) O
r 19.  Three of the following four number pairs are alike in certain way and one is different. Piék
the number pair that is different from the rest.
(A) 3:27 (B) 4:65 € 2:9 ER i) I B -
20. The sum of current ages of Vinayak and his father is 50 years. 5 years from now, Vinayak’s
age will be one fifith of his father’s age. What is Vinayak’s current age?
(A} byears (B) 8years "(C) 15years (D) 10 years

7 : JSA-I
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few v geiertor Rl TE SR & foe fo @ faegl ot e1o| § seeHr g e
16 +27 +3-9x 12=85

A +,+ B -, x

© -+ | D) x, +
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(A)  wH (B) ufew
(C) daTeht (D) T
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(A)  drm (B) @@
(C) w9 D) =&
wsql it N F el @i

@) <mfg - T fergt

(B) =T - B

(C) =% - T Sid

(D) fr - gt
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* Select the word pair in which the two words are related in the same way as the two words

in the following pair:
Accident : Injury -
(A) Farmer: Hardwork

(C) Income : Corruption

®)

(D) Police : Fine

Infection: Disease

Which two signs need to be interchanged to make the given equation correct?

16+27 +3-9x12=85
@A) 50+
(C) _>+

®)
D

__,X

Kiiss

>

Five girls took part in a race. Rajni finished before Mahika but behind Garima. Ashm1ta
finished before Sanchali but behmd Mahika. Who came second in the race?

(A) - Rajni
(C)  Sanchali

B

D)

Mahika

Garima

. Four words have been given out of which three are alike in some manner while one is dif-

ferent. Choose the odd one.

(A) Festoon

B)

D)

Queen cat -

Hen
Queen ant
Doe

© Adorn

Find the unlike pair of words:
(A) Tomcat i
(B) Chick B

C) Ant | -]

(D) Stag -

Garnish
Demolish

A, B,C D, E, F, G, and H are sitting in a circle in the same order for lunch at equal dis-
tances. Their posmons are clockw1se If C is sitting in the east, then what is the position

of G?
(A) South-east
| (C) North-east

Find the odd letter
(A) B (B)

®)
@)

DS (©)

West
East

F

D) O

JSA-1
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28. vmaﬁﬁﬁqaﬂaa#aisﬁﬁﬁﬁqa@zﬁﬁﬁr%éﬁﬁ$qyﬂqaq%ﬁW?ﬁﬁé%a%y
EK:MS:AG:?
@A—--10 @3 1IJ . (C) IM- (D) dJP

29. 'mﬁﬁﬁwqgﬁéiﬁaxmqaﬁuﬁnsmn$mmﬁﬁqga%ﬂl
43, 48, 58, 73, ... g
A) 83 - ® 78 ©) 88 (D) 93

30. 1mﬁﬁﬁﬁqgﬁtﬁftﬁvmqaﬁnﬁnaﬁ(é@ﬁﬂé#qpa%m|
GJM, KLN, ONO,.....
(A) SRS & 2 ) BOR
(C) SPP | : (D) SQQ

31. Hﬁfﬁ%ﬁiﬁﬁﬁﬁﬁas@mq%ﬁu%naﬁ{é@ﬁﬂaﬁqga%ml
BT
@ o ® -2 © 1 ® 2

g0 foq i ) W R % R T 2 Rl a8 s o e @
. 18—-2x7+6+10=67
(A) -3+ . B) xR+ (C) +3Mx (D) +IM—

33w w3 S i T ) WOT S e F g |
7CC, XEE, VGG, ....., RKK N |
) TII Sy REG ' () SII " (D). 566

34. answaﬁmﬂqﬁ;ﬁﬂﬁi#ﬁmﬁ%#rmziiamqéfﬁﬁ%raaaﬁﬂ%lSEWHHﬂ%mqaﬁl
(A) " : . (B) waifem
€ R (D) wifwR

JSA-T 10
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28. Select the option that is related to the third term in the same as the second term is related

to the first term.
EK:MS: AG: ‘?

@) 10 @F I S G T o

29. Select the correct option that will fill in the blank and conlplete the series.
| - 43, 48,58, 73, ... ,
(A) 83 B) 178 (C) 88 . D) 93

30.  Select the correct option that will fill i in the blank and complete the ser1es
GJM, KLN, ONO,..
() SRSE - o L @i ER
(C) SPP , D) 8QQ

'31. Select the correct option that will fill in the blank and complete the series

$1615,12.7, .. _
(A0 (B - = (@)1 (D) 2
32: Find out the two signs to be 1nterchanged for making followmg equat1on correct.
18—2x7+6+10= 67 :
(A) —and + (B) x and + ~ (C) +andx - (D) +and-

33. Select the option that will fill in the blank and complete the given series.
- ZCC, XEE, VGG, ....., RKK

L , A TII B) RGG ' (C) SII | (D) SGG
34. Four words have been given out of which three are allke in some manner Wh1le one is
different. Find the odd one.
(A) Gold , (B) Platinum
(C) Silver ‘ _ (D) Ruby

i s S , JSA-I
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et e < 9 o o ) T S A g HT

6, 11, 20, 45, 134, ....

@A) 497 ® 9 . C (O 47
 foram e e W T
(A) 32:19 L (B) 483:95 . . (C) . 21761

E’aﬁﬁm@ﬁsﬁﬁ?ﬁwﬁﬁnaﬁwj@waﬁ@m[

4, 5, 14, 39, 88, 169, .....

(A) 209 (B) 200 ). 1990
fywm T S R
(A) 2564:21 (B) 3797:42. (O 1479:83

o vz fer e &, e @ A Foel g @ e & A T e 2 it 71 o

(A) TRl : e ey .
©) wERE & (D) M=

E‘aﬁﬁwzﬁsﬁﬁﬁwaﬁﬁnéﬁ(maﬁwml
16, 2,15, 4, 13, 7, 10, .11, 6, v
A 17 B) 14 (C) 15

e T NS T B
(A) 123:49 (B) 912:144 (C) 324:100

JSA-1 | 52 12

(D) 4632:23

(D) wd

D) 794

(D) 58:26

D) 299

(D) 16

(D) 813:169
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35. Four words have been given out of which three are alike in some mannei‘ while one is
different. Find the odd one.
(A) Temple (B) Park (C) House (D) School
1 36.  Select the correct option to complete the series.

6, 11, 20, 45, 134, ....
(A) 497 B) 749 (C) 479 D) 794

37..  Choose the odd number pair.

A(A) 32:19 - (B v 43 : 95 (G .21 .-561 » D) b58:26
38. Select the correct option to complete the series.

4, 5, 14, 39, 88, 169, ..... _

A 209 L (B 200 (C) 290 D) 299

39. Choose odd number pair

(A) 2564:21  (B) 3797:42 (C) 1479:83 (D) 4632:23
40. Fbul_“ words have been given out of which three are alike in some manner while one is
different. Find the odd one.
(A) Scurvy B | i
{ \ (C) Phosphours - (D) Goitre
, %’ 41. Select the correct number to complete the series.

16, 2,15, 4, 13, 7, 10, 11, 6, ....
@ 17 B 14 ©: 15 . “ Dy 16

42.  Choose odd number pair.
A 123:49 B) 912: 144 (C) 324:100 . (D) 813:169 -

7

13 ,  JSA-I
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A) 6f@ B) s8fa (C) 10fA D) 5f@

R0 1 SYea @ i M 54 Reeifier / viar @ sik gwwa G @ 45 Reefier /v 31 9 By

o fra e % forw wRdt 27

A 9 (B) 10 ©) 12 (D) 20

e ST § 9 A 62 T SR e 3 T R 72 w0 v feel 3 fan @ freman s

arfer Tierr 64.50 ¥ ufa ferenum g1 ?

Aa) 31 B) 3:2 (C) 4:3 D) 5:3
forom Hwn St &1 =RE R

41, 43, 41, 53, 61, 71, 73, 81

A 61 - B) 71 (C) 173 (D) 81
fgu My 33wy ® Teq @@ [ R

6, 13, 18, 25, 30, 37, 40

3 Y2 S 1 TR HE R 4 wee 3t aiE @ Heftd § 9 fr Aefifaa s @ e
SOLDIERS : ARMY:: MUSICIANS: ?
(A) FLOCK B) "GANG (C) COLONY (D) BAND

& F O 2: 3 : 5 % ST & F 3 IH FON 100 2, 7 A wemad § & TR a9 wEn
3t Jra FIa? '

(A) 225 (B) 625 C) 25 (D) 100
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| 43. A does a work in 10 days and B does the same work in 15 days. In how many days they
together will complete the same work? ‘

(A) 6 days (B) 8 days () 10 days (D) 5 days

44. Excluding stoppages the’ speed of a bus is .54_kmph and including stoppages it is 45 kmph.
For how many minutes does the bus stop per hour?

A 9 ' B) 10 ~ ©) 12 (D) 20

45, In what ratio must tea at Rs. 62 per kg be mixed W1th tea at Rs. 72 per kg so that the
mixture must be worth Rs. 64.50 per kg? e

.(A) 3:1 - B) 3:2 . (C) 43 ' D) 5:3

46. Find the odd man out

| 41, 43, 47, 53, 61, 71, 73, 81 | ,
- (A) 61 “B). 71 © 73 (D) 81

47. Find out the wrong nu’niber in given sequence
6, 13, 18, 25, 30, 37, 40
@A) 25 @ @ | (CrST—T) 4

- 48. Choose the pair Wthh is related in the same way as the words in the first pair from the
' given ch01ces

SOLDIERS : ARMY:: MUSICIANS: ?
(A) FLOCK B) GANG (C). COLONY (D) BAND

49.  If three numbers are in the ratio 2: 3 : 5 and twice their sum is 100, find the square of the
largest of the three numbers.

(A) 295 ' (B) 625 © 25 D) 100

15 . ‘ JSA-1
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__!Tﬁw qﬁﬁﬁﬁﬁW%aﬁtﬂm—ﬁﬁwaﬁtﬁﬁwﬁw% - feem @ g ?
A) IR , (B) Iwm-uftew  (C) c<w-uftem (D) gRw-w

(A) 25430 (B) 29530 (C) 24153 (D) 25413°
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(A) 80 B A ©) 179 ' (D) 20
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(A) 1975:1579 (B) 7319:1793 (C) 3152:5321 (D) 4283: 8432
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Ram said “Sita is my paternal. great grand father’s only son’s only daughter-in-law. How is
Sita related to Ram?

(A) Maternal aunt (B) Paternal aunt
(C) Mother (D) Sister

Complete the series
CX, WP, UJ, SF, . =T :
A OP B) QD (© YT (D) RE

If north-east becomes west and south east becomes south and so on what will be the west?

(A) North- east (B) North-west (C) South-west D) South-east

A trader makes a prof1t by selling goods at a profit of 20%. He also uses welghts that are
20% less. What is his actual gain percent?

(A 40% B) 60% ©) 20% . (D) 50%

If PALE is coded as 2134, EARTH is coded as 41590, how is PEARL coded?
(A) 25430 B B) 29530 (C) 24153 D) 25413.

Find the odd one from the given options.

(A) Tree:Branch (B) Car: Engine  (C) Table: Chair (D) House: Room

Find the odd one out from the given options:

(A) 80 | (B) 40 (C)tf G | -(D)' 20

- Complete the series

7,35, 33, 63, 60, 92 . _
A) 69 B) 74 (@) 88 ne D) 81

Find the odd one out from the given options.

(A)  1975:1579 (B) 7319:1793 (C) 3152:5321 (D) 4283: 8432
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'aﬁtﬁﬂmgzm%lagmaﬂaﬁmﬁaﬁtﬁw?
A) =mHAs - (B) g

AR T R R e S g R

GET IT ON
Google Play

wh S # 1:2:3 % omua & 25 9, 10 M o 5 T F R ¥ SR F@ 30 TAE, A 5 W K
foras g7

(A) 50 B) 150 (C) 100 D) 200

i  70% T Te §1 80% Teu Il 20% wwen el wfSew dafafy w1 ket 3
Jar & S FHTE! Y pel T 1 a1 e

A) 70% : B) 27% (©C) 30% D) 73%

ot frme 7 g o o T i B v g () A vt A @ e 24 A

32 85 64
5-- 18 10
i e
6 40 24

@ ®) 6 e (6) D) 4

ol T 1.5 3 for 10% S 7 1 20 2 1,000 w9 8 fey e 27

A) 160.55 (B) 167.36 .Gy 15025 (D) 157.63

ugavfﬁﬂaﬁaﬂtamalaw%l@éﬁm%ﬁﬁw%ﬁﬁﬂmwﬁﬁqéa@

O oo D) TEIE

31@02&[@'5::@?{:?

@ 7 - ®) 11 ©)..:18 D 15
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59. In a bag there are coins of 25 paise, 10 paise and 5 paise in the ratio of 1: 2: 3. If there are ‘

Rs. 30 in all, how many 5 paise coins are there?

(A) 50 | (B) . 150 © 100 (D) 200

60. 70% of the employees in a firm are men. 80% of men and 20% of women employees opt for

voluntary retirement. What is the % of the total number of employees continue in service?

@) 70% ®B) 27% ©) 30% D) 73%

61.  Choose the alternative that best replaces the Question Mark (?) in the given figure.

32 85 64
5 13 10
1 2 8500
6 40 24
Ay (B) 6 } © 2 | (D)t 4.

62. Find the compound interest on a sum of Rs. 1,000 at the rate of 10% per annum for
1.5 years when interest in compouﬁded half-yearly. ‘

(A) 160.55 (B) 167.36 (€) - 150.25 b)) ) 157.63

63.  Rahul starts Walking towards west. After a while he turns left and then turns to his right.v
Again he turns left and then right. How many times did he turn towards South?

(A) Four turns (B) . Three turns (C) Two turns (D) One turn

64.  Which number will best complete the relationship given below:
Basketball : 5 :: Football : ? - | |
@\ 7 (B) 11 ©) 13 D) 15
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: Google Play
€ s 3 et e #7
A 6 ® 8 © 10 D) b
'wﬁsmeWFﬂaﬁlmﬁwwWaﬁﬂaﬂgﬁ5/6@1@8&@3?@311&%111

10 @1 6t off| o8 o forerft ot &7
(A) 40 B) 20 (C) 30 D) 38

f@ﬂﬁﬁ@m‘ﬁnﬁrmm/aa%laa%m‘ﬁrrﬁwmﬁa/w%lﬁmmﬁ:ﬂ

68 Terciiier ST < M e@hft? ,
A T7H e (B) 8w

€ 4% o (D) 7% 33 fime

@wgag5aéMﬁwm@ﬁ%5ﬁﬁﬁWiéaﬁﬁ@‘lqgaa?%lwaﬁtaﬁWSaéﬁgﬁ‘
TIFT Bt @ A 3 o1 AT Yg=relt 21 3 Al o o ot forefh 7
(A) 11.3OY.AM (B SR (G 9.30 AM (D) 10AM

A, B, C 3R D # 8 Uk fehcy o1 =& L St o1ehl @ 37T 2

(A) W B | e o
(C) m ' (D) Ufém westh
T ferehed 1 = S AR & ST &

NI FUEED , (B) SR
(C) iR (D) oA

frfafed w1 d & 7% g@en § mewaﬁ
3,17, 16, 35,7 ! ,
(A) 65 B) 72 : ) .74 D) » 76
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How many triangles are there in the given figure?

A 6 - B _8 : (@ 10 D) 5

Rajan got married 8 years back. His age then was 5/6 of his present age. His sister was
10 years younger at the time of his marriage. How old is she now?

A) 40 e (B 120 (C) 30 (D) 38

Speed of a boat in still water is 13 km/hr. Speed of water current is 4 km/hr. In what time

the boat cover 68 km upstream?

(A) S hours (B) 8 hours (C) 4 hours : (D) 7 hrs 33 minutes

A bus leaves Agra at 5 AM and reaches Delhi at 12 Noon. Another bus leaves Delhi at
8 AM and reaches Agra at 3 PM. At what time do they meet? : : '

(A) 11.30 AM (B) 1.30PM (C) 9.30 AM (D) 10AM

Select the one alternative out of A,B,C,D which is different from the rest.
(A) Dog Show _ (B) Fashion Show
(C) Funfair (D) Painting Exhibition

Select the one alternative which is different from the rest.

(A) Administrator (B) Doctor . (C)  Engineer (D) Lawyer
In the following question select the missing number in the given sefies
3,17, 16, 35, ?

A) 65 " e o D) 76

21 : JSA-I



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

72.

73.

74.

75.

76.

7.
78.
79,

JSAT | _ R

(A) »11-121 y By 13-199
(C) 14-196 | (D) 15-225
 fag e P & o et ) gf

GET IT ON
Google Play

ﬁw%ﬁgamﬁ,amé@rmwﬁ-
ol Bt e .
@ -5 ®B) 5 | I (o) T 5 A

o S T e e & 31 e ket @ g Wl Rk 3 1 sfwen A g o)

FH, LN, RT, ?

(A) XY . - (B) XZ (C) ZX D) WY

: m@aﬁm%wﬁmﬁ%@imﬁmwmﬁ@ﬁa’ﬂ?

(A) Twinkle (B) Twister ' (C) Trump (D) Trigger

eI 3 e iR B W H T v sifed fwrs 3me

(A) Boring (B) Busted
(C) Burped . , (D) None of these

e e 3 o e faeredt @ e e g w1 e A

A DG (I @S © BEY ' (D) NR

forfrfaa wea R e forehedt & & fowm wrsg w1 o
@) T ®) B C) | (D)
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: Google Play

In the following question, select the missing number.
11, 8,4, -1, 7
@&y =5 ®) 5 =% D) -7

A series is given with one term missing. Select the correct alternative from the given ones

that Will complete the series.
FH, LN, RT, ? .
A) XY AB) =~ X7 (C) ZX D) WY

Which word will ap.peaf third when arranged in the order of dictionary?

(A) Twinkle (B) Twister ~ (C) Trump ’ (D) Trigger

Which word will appear last when arranged in the order.of dictionary?
(A) Boring i (B) Busted
(C) Burped : ; (D) None of these

In the following question select the odd number pair from the given alternatives.
@A) 11-121 _ (B) 13-199 |
(C) 14-196 . ' : (D) 15-225

Select the odd letters from the giveﬁ alternatives

A) . DG B) PS _ © VY (D) NR

In the following question select the odd word from the given alternatives.

(A) Cifcle ~ (B) Triangle (C) Cube (D) Rectangle

In the following question select the odd word from the given alternatives.

(A) ‘Water B) Milk (C)  Juice o (D) Potato

23 : JSA-I
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80. R e famet F @ v ey

@A) wfm (B) gamaeh © wrEfEm (D) iy
81. %mﬁﬁqwﬁaﬁﬁ#ﬁmmﬁ@wwﬁl
102: 10404 :: 107 : ? : 7 :
(A) 11449 y (B) 11649 (C) 11049 (D) 12449
82, fow M forsbey § @ W wwar a1 v
7505 11.9
A) 120 (B) 121 ©) 122 (D) 132
83, Freaffe e R e et 8 4 i e e
: 37@2'{:1%9}{:55}17: :@'@35:'? . »
A) 9 (B) THaE . (C) oS (D) fovaframes
84. Ry fmrea # & Wt e 1 v
T QY - AYywfegay ; ? : :
A) Wm B) wEg © wa@ (D) wrh
8. few e fomredt & & forom wreg w51 = .
@A) s (B) B 7@ ©) & D) efl
86 afﬁasrﬂamﬁqwagﬁ%lm%ﬁmﬁqﬁmmmaﬁwﬁqmﬁﬁmm
17 Fevaa wdredt § gar gy ? .
(A) wiHar B) F¥ar (C)  gFar (D) tar
7. mmwﬁ@wwwaﬁﬁmﬁmwmmﬂw%a@wmmwm
&) NEATLY - (B) AUNTY (C) JAUNT (D) UNITY
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Select the odd word from the given alternatives.

(A) Spanish (B) Italian (C) Chemistry (D) German

In the following question select the related number from the given alternatives.

102 : 10404 :: 107 : ?
(A) 11449 (B) 11649 (C) 11049 D) 12449

Select the related number frbm the given alternative.
780z 117
A) 120 B) 121 ©) 122 D) 132

In the following question select the related word from the given alternatives.

Doctor : Stethescope :: Author : ?

(A) Pen T g (B) Hospital

(C) College A ' (D) - University &

Select the related word from the given alternative
Cow : milk :: Bees: ?

(A) Silk (B) Honey (C) Flower D) Water

Select the odd word from the given alternatives

(A) Stream (B) Rivulet (C) . River (D) Valley

Advik’s birthday is on Monday 19th June. On what day of the week will be Nishanth’s
birthday of the same year if Nishanth was born on 17t November. '

(A) Saturday (B) Wednesday ©) Friday , (D) Sunday

From the given words select the word which cannot be formed using the vletters of the given
word JAUNTILY - : ' ‘

(A) NEATLY (B) AUNTY (C) JAUNT (D) UNITY
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7 Google Play

aﬁ3%?ﬂ2:50,2%?ﬂ4=60‘§,?ﬁ4%5%?ﬂ AT R?
o

Y18 ®) 9 (©) 90 D) 20 -
() PR e e =
' 23?12
6 13 7
138 117 84 | |
@ 9 ®) 13 © 17 ®) 15
2468 1 37 & fawior Y T TR T 37

A) 726 B) 36 » (C) 18 D) 14

mweﬁxm&msﬁa}aﬁﬁ@zﬁaéwmm%mz 1,000 3R 1,040 ¥R| st

C mRR?

92.

93.

@ 9 ®) 10 L © 8 O 11

éaaﬁ%ﬁzha%ma?rmﬁaﬂé%lmgﬂﬁwﬁs%maﬁmwwml

1. 12.08.1989
2. 13.09.1991

3. 19.06.1991

4. 20.02.1989

5. 22.03.1991 ,

@A 2 ' B) 4 @y == | D) 5

1. T

2. W

3. T

4. g
5. U

6 TE :

A 2,341,65 B) 2,4,1,3,6,5
(C) 2,4,3,1,5, 6 : M) 24,3 1,6,5

JSA-I | o 26



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

88.

89.

90.

91.

92.

93.

247

(A 2,3,41,65

If 3% of 2 = 50, 2% of 4 = 60, then what is the value of 5% of 4=7?

A) 16 3B 9 © 90

Select the missing number marked (?)

23?2 12
6 13 7
138 117 84

A 9 B 13 ©) 17

What is the remainder when 2468 is divided by 37

A 26 | (B) 36 - (©) 18

GET IT ON )
Google Play &

D) 20

(D) 15

D)

14

The simple and compound interest that can be earned in two years at the same rate is

~ Rs. 1,000 and Rs. 1,040 respectively. What is the rate of interest?

A 9 B 10 ) 8

The date of birth of some persons are given below. Find

person.
1.  12.08.1989
2. 13.09.1991
3. 19.06.1991
4.  20.02.1989
5. 22.03.1991
A 2 B 4 © 1

D)

11

D) 5

out the date of birth of the oldest .

Select the correct alternative to indicate the arrangement of the following words in a logical

and meaningful order.

1.  Paragraphs
2.  Letters

3.  Sentences
4.  Words

5. Book

6. Pégés

© 2,43,1,5,6

27

B) 2,4,1,36,5
D) 2,4,3,1,6,5
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94. Tr=fafaa wsat =t aifshen TR wrefer aliss & syafeq #i

1. TH™

2. waRETd

3. ufEr

4., UgEE .

S |

A 23415 | ®B) 5,2 4,3, 1
© 2,3,45,1 D) 2,5,4,31

95. ﬁw%%aﬁéﬁwwﬁﬁ%aaﬁ%ﬁwé@%@rwm%ﬁwgﬁ
A fawem B) (C) =@ | (D) i

96. 120nﬁawﬁaéaﬁwﬁagﬁaﬁz7orﬁaﬁwaqsh9mﬁsoﬁmﬁmaqﬁu%ﬁnﬁﬁ
fomlia fozn & =re areft @l 97 A IR w1 I I hY S T R ? :

A 240K (B) 320X © (C) 260X (D) 230rﬁa,

97. TR 3 3 Wra hl sy % fAw 10% wfa o A =gy = W 10,000 TR A Ty v Faw )
3 W1 o1q Tt i foraet Titrg fewfte

(A) Rs. 13,210 (B) Rs. 13,310  (C) Rs. 12,100 (D) Rs. 11,000

98. Mmmﬁwaﬁlsﬁm%la‘gm% _
A) 54 (B) 108 (C) 162 ¥ (D) 324

99. 27 % Tig 1 3Nud I 3,700%@1%@@1?1%%%@%%%,?ﬁaﬁw&%owa?,f‘mm'
: ?| ¢ fh 1 Aq R R?

(A) 5,010 (B) 5,200 (C) 5,100 (D) - 5,000

100. 2 WS Kl AT 22 7 S IHT AR 14 8| HEAST 1 TOHEG F1q HiQ]
QA 172 (B) 82 © 62 D) 27
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Arrange following words in a logical and meaningful manner.
State

Individual

Family

Community

U D

Country

A 2,341,5 B) 5,2 4,3,1
(©)-2-8-4,5 1=~ D) 254,31

Three of the following words are alike in a certain way and one is different. Find the odd
one out. ' '

(A) Division (B) Addition (C) Subtraction (D) Mathematics

A 270 metres long train running at the speed of 120 km/hr crosses another train running in
opposite direction at the speed of 80 km/hour in 9 seconds. What is the length of the other
train? ,

(A) 240 metres (B) 320 metres (C) 260 metres (D) 230 metres.

Raviraj invested an amount of Rs.10,000 at compound interest rate of 10% per annum for a
period of 3 years. How much amount will Raviraj get after 3 years? '

- (A) Rs. 13,210  (B) Rs. 13,310 (C) Rs. 12,100 (D) Rs. 11,000

98.

99,

100.

Twice the square of a number is the cube of 18. Thé number is
(A) 54 ; B) 108 (C) 162 (D) 324

The average salary of a group of 27 is 3,700. If the salary of one more person is added the
average is increased to 3,750. What is the salary of the new person?

A) 5,010 : B) -5,200 (C) 5,100 (D)- 5,000

The sum of 2 numbers _is 22 and their difference is 14. Find the product of numbers.
A 72 (B) 82 (C) 62 D) 27
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